CHAPTER 2

A metal wire has a uniform cross-section A, length [, and
resistance R between its two end points. It is uniformly
stretched so that its length becomes al. The new resistance is

(A) aR
(B) o’R
() VaR
(D) €'R

QUESTION 2.2

The voltage across a 100§ resistor is sketched in the figure.
The energy delivered to the resistor from ¢ =0 to ¢ = 2 ksec
will be

u(t), V

=1t

BASIC LAWS

When a resistor R is connected to a current source it consumes
a power of 18 W When the same R is connected to a voltage
source having the same magnitude as the current source, the
power absorbed by R is 45 W. The magnitude of the current
source and the value of R are

(A) VI8 A and 1Q
(B) 3Aand 20

(C) 1A and 189
(D) 6 A and 0.59

The current i in the circuit of the figure is equal to

(A) 12A
(B) —12 A
(C) 4A

(D) None or these
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